Mathematik PM 19.2 Lésungen
19.2 Ld4sungen
A=114 [Fr]
1. x =35 2 B=228 [Fr]
C=198 [Fr]
2
3. x=3- 4. Ac=3 [cm]
5 Vy =22500 [eml] = 225 [] 6. b=6 [m]
p, =500 [%]
7 x =152 [Kiihe] 8.
—_— p, =600 [%]| (Zugabewar nichtgefragt))
Kosten pro Schraube= = [Fr] l, =65 [m]
9. 10 10. L —52 [m]
Betrag= 375 [Fr] 2 M
11, s=1000 [km] 12. a) 20-a=(a-16)-22
t=5 |h]
_— =288
13. s, =625 [km] 1 =
15. X = gé' 16. IFlus:s =3 [m]
a=11 [cm]
17. b=13 [cm] 18. x=3
c=19 [cm]
19. t—At=4714 [Min] 20. x=5
21 A =54 [Anzahl 29 x=3 [Jahre]
23 Betrag,, =7 [Fr] o4 h=675 [cm]
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